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Q=1445810000
P = 510510n + 144581

2P 4+ 1 =2(510510n + 144581) + 1 = 10210201 + 289162 + 1 = 10210201 + 289163
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P = 510510 + 144587

2P + 1 = 2(510510n + 144587) + 1 = 10210201 + 289174 + 1 = 10210201 + 289175
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P =510510n + 144601

2P 4+ 1 =2(510510n + 144601) + 1 = 1021020n + 289202 + 1 = 10210201 + 289203
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Q =1446070000
P = 5105101 + 144607

2P 4+ 1 =2(510510n + 144607) + 1 = 1021020n + 289214 + 1 = 1021020n + 289215
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2P + 1 = 15(68068n + 19281)
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Q=1446110000
P = 510510n + 144611

2P + 1 = 2(510510n + 144611) 4+ 1 = 10210201 + 289222 + 1 = 10210201 + 289223
0000010210200 20 2003,5,7,11,13,17000000 10000000

289223 = 11 x 26293 x 1
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2P + 1 = 2(510510n + 144631) 4+ 1 = 10210201 + 289262 + 1 = 10210201 + 289263
0000010210200 20 2003,5,7,11,13,17000000 10000000

289263 = 3 x 13 x 7417 x 1
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2P + 1 =39(26180n + 7417)
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P =510510n + 144637

2P 4+ 1 =2(510510n + 144637) + 1 = 1021020n + 289274 + 1 = 1021020n + 289275
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2P + 1 = 2(510510n + 144643) + 1 = 1021020 + 289286 + 1 = 1021020n + 289287
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289287 =3 x 3 x 32143 x 1
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2P + 1 = 3(340340n + 96429)
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Q=1446470000
P = 5105100 + 144647

2P + 1 = 2(510510n + 144647) + 1 = 10210201 + 289294 + 1 = 10210201 + 289295
0000010210200 20 2003,5,7,11,13,17000000 10000000

289295 = 5 x 57859 x 1
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2P + 1 = 5(204204n + 57859)
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2P + 1 = 2(510510n + 144671) 4+ 1 = 10210201 + 289342 + 1 = 10210201 + 289343
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289343 = 289343 x 1
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2P + 1 = 510510m + 289343

gbooboobooobooboboobboobboooboooboon

Q=1446730000
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=1446790000
P =510510n + 144679

2P 4+ 1 = 2(510510n + 144679) + 1 = 10210201 4 289358 + 1 = 1021020n + 289359
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289359 =3 x 3 x3x7x1531 x1
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2P + 1 = 2(510510n + 144689) + 1 = 10210201 + 289378 + 1 = 10210201 + 289379
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289379 = 47 x 47 x 131 x 1
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Q=1447010000
P = 5105100 + 144701

2P + 1 = 2(510510n + 144701) 4+ 1 = 10210201 4 289402 + 1 = 10210201 + 289403
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289403 = 251 x 1153 x 1
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2P 4+ 1 = 510510m + 289403
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P = 510510n + 144707

2P 4+ 1 =2(510510n + 144707) + 1 = 1021020n + 289414 + 1 = 1021020n + 289415
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goooooboOo3oobobooooboboobooobooooDooboobDobDOobooboOooboo
good

Q=1447090000
P = 510510n + 144709

2P 4+ 1 =2(510510n + 144709) + 1 = 10210201 + 289418 + 1 = 10210201 + 289419

0000010210200 20 2003,5,7,11,13,17000000 10000000

289419 =3 x 13 x 41 x 181 x 1
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oboooooo3ooooooooobobooobooboobooboboooobOoobOoo
good
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P =510510n + 144713
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Q=1447190000
P =510510n + 144719

2P + 1 = 2(510510n + 144719) 4+ 1 = 10210201 + 289438 + 1 = 10210201 + 289439
0000010210200 20 2003,5,7,11,13,17000000 1000000

289439 = 289439 x 1
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2P 4+ 1 = 510510m + 289439
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Q=1447310000
P = 510510n + 144731

2P + 1 = 2(510510n + 144731) 4+ 1 = 10210201 + 289462 + 1 = 10210201 + 289463
0000010210200 20 2003,5,7,11,13,17000000 1000000
289463 = 289463 x 1
0000 10210200000000000000

2P 4+ 1 = 510510m + 289463
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P =510510n + 144733

2P + 1 =2(510510n + 144733) + 1 = 1021020n + 289466 + 1 = 10210201 + 289467
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Q=1447370000
P = 510510n + 144737

2P 4+ 1 =2(510510n + 144737) + 1 = 1021020n + 289474 + 1 = 1021020n + 289475

0000010210200 20 2003,5,7,11,13,17000000 10000000

289475 =5 x 5 x 11579 x 1

oooo
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Q=1447430000
P = 5105100 + 144743

2P 4+ 1 =2(510510n + 144743) + 1 = 10210201 + 289486 + 1 = 1021020n + 289487

0000010210200 20 2003,5,7,11,13,17000000 10000000

289487 =11 x 26317 x 1
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2P + 1 = 11(92820n + 26317)
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P = 510510n + 144751

2P + 1 = 2(510510n + 144751) 4+ 1 = 10210201 + 289502 + 1 = 10210201 + 289503
0000010210200 20 2003,5,7,11,13,17000000 10000000

289503 =3 x 3 x 19 x 1693 x 1
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o0obobooo30bobobooooobobDooDooboboboDobDobooobUobDOobDOoo
goo
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0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=144761 0000
P =510510n + 144761

2P + 1 = 2(510510n + 144761) 4+ 1 = 10210201 + 289522 + 1 = 10210201 + 289523
0000010210200 20 2003,5,7,11,13,17000000 10000000

289523 =13 x 22271 x 1

oooo
2P + 1 = 13(78540n + 22271)
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Q=1447630000
P = 510510n + 144763

2P + 1 = 2(510510n + 144763) 4+ 1 = 10210201 4 289526 + 1 = 10210201 + 289527
0000010210200 20 2003,5,7,11,13,17000000 10000000

2809527 =3 x 7T x 17 x 811 x 1

oooo
2P + 1 = 357(2860n + 811)
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Q=1447690000
P = 510510n + 144769

2P 4+ 1 =2(510510n + 144769) + 1 = 10210201 + 289538 + 1 = 10210201 + 289539

0000010210200 20 2003,5,7,11,13,17000000 10000000

289539 =3 x 3 x 83 x 607 x 1
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Q=1447730000
P =510510n + 144773

2P 4+ 1 = 2(510510n + 144773) + 1 = 10210200 + 289546 + 1 = 10210200 + 289547
0000010210200 20 2003,5,7,11,13,17000000 1000000

289547 = 23 x 12589 x 1
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2P +1 = 510510m + 289547
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2P + 1 = 2(510510n + 144779) 4+ 1 = 10210201 + 289558 + 1 = 10210201 + 289559
0000010210200 20 2003,5,7,11,13,17000000 1000000

289559 = 289559 x 1
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2P 4+ 1 =510510m + 289559
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P = 510510n + 144787

2P 4+ 1 =2(510510n + 144787) + 1 = 1021020n + 289574 + 1 = 1021020n + 289575
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280575 =3 x3 x3x3xHxbx1lx13x1
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Q=1447910000
P = 510510n + 144791

2P + 1 =2(510510n + 144791) + 1 = 10210201 + 289582 + 1 = 10210201 + 289583
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289583 = 7 x 41 x 1009 x 1
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Q=1447970000
P = 510510n + 144797

2P 4+ 1 =2(510510n + 144797) + 1 = 10210201 + 289594 + 1 = 1021020n + 289595
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289595 =5 x 17 x 3407 x 1
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Q=1447990000
P = 5105100 + 144799

2P 4+ 1 =2(510510n + 144799) + 1 = 10210201 + 289598 + 1 = 10210201 + 289599

0000010210200 20 2003,5,7,11,13,17000000 10000000

289599 = 3 x 37 x 2609 x 1

oooo
2P + 1 = 3(340340n + 96533)
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P =510510n + 144803
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oooo 10210200 000000000000

2P 4+ 1 = 510510m + 289607
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2P + 1 = 2(510510n + 144811) 4+ 1 = 10210201 + 289622 + 1 = 10210201 + 289623
0000010210200 20 2003,5,7,11,13,17000000 10000000

289623 =3 x 29 x 3329 x 1
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Q=1448170000
P = 5105100 + 144817

2P + 1 = 2(510510n + 144817) 4+ 1 = 10210201 4 289634 + 1 = 10210201 + 289635
0000010210200 20 2003,5,7,11,13,17000000 10000000

289635 = 3 x 5 x 19309 x 1
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2P + 1 = 15(68068n + 19309)
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2P 4+ 1 =510510m + 289643
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P = 510510n + 144827
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P =510510n + 144839

2P 4+ 1 =2(510510n + 144839) + 1 = 10210201 + 289678 + 1 = 10210201 + 289679
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289679 = 13 x 22283 x 1
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P = 510510n + 144841
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P = 510510n + 144847

2P + 1 = 2(510510n + 144847) 4+ 1 = 10210201 4 289694 + 1 = 10210201 + 289695
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289695 =3 xHx 7x31 x8&8)x1

oooo
2P 4+ 1 =105(9724n + 2759)
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